B.Com. (Part-III) ExamiNarion, 2016
{10+2+3 Pattern) rtuonline.com (Faculty of Commerce)
ACCOUNTANCY AND BUSINESS STATISTICS—I
Auditing and Management Accounting
Tune : Three Hours Maximum Marks : 100
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PART-I (OBJECTIVE) Maximum Marks : 40
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I. (1)  Inwhich institutions auditing is compulsery? Give any two cxamples.
To1-Teeer weanatl A aidww aifard 82 991 3 soewm A
(ii) Give two main objects of audit. 38 & 2 YE 357 waEd |
(iii) Give two examples of contingent liability.
Ty e & <1 et Sfag |
(iv) Givc two limitations of internal audit.
A IhE & g HE waEd |
(v) To whom a company auditor address his report?
(vi) Give any four techniques of management accounting.
Y TREEA 1 FE 97 GHAE 90%Y |
(vil) What is common-size balance sheet? TR foar f5d w80 §72
(viii) Give any four names of fictitious assets.
Fim wfedi & £ 9R T Tz
(ix) Give any four names of activity ratios.
Teranita SIumEl ¥ FE =% 9 ==
(x) What is pay-back period? SaF-arast afiy = &7
2. (i) What are the objects of an audit programme?
R0 FRIFT & I2vq T E?
(1) “Vouching is the backbone of auditing”. Explain.
omE e W egh R0 wEEEd
(i) Give any four advantages of management accounting.
Yo ST F FE 91 @ gaRT | “Ih
(iv) What do you mean by Cash Flow Staiement? o
e vare T & sy = v £9
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(v} A project requires an initial investment of ¥ 2,00,000 and involves
a net cash flow of ¥ 50,000 each year for 8 years. Cost of capital is
10%. Find out the net present value if present value of ¥ 1.00 for 8
vears at 10% discount rate is ¥ 5.333.
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PART-II (DESCRIPTIVE) Maximum Marks : 60
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Section-A (GUg-3 )
What is an audit programme? Give essentials of a good audit programme.
HAFEU FEFT T 7 UF o FHel0 FHwd & Aavdhd o5d IR |

OR { 319ar)

Explain the difference among vouching, verification and valuation. What
are the duties of an auditor with respect to valuation of stock?
T, T U e # S T Sied | T2 % goaiEd % uE

Section-B ( @UE-9)
‘What is qualified report? Draft an audit report indicating any three
qualifications.

waiten frid = 27 frl o mafgisd =) ifm & 3o o e O

AR FfeE OR ( 319ET)
The following fgures relate to two companies :
2 mmfral § gafug iee Freafafaa € .

(T in lakhs)
Particulars A Ltd. B.Ltd.
Sales rtuonline.com 1500 1,000
Variable costs 600 300
Contriburion 900 700
Fixed cost 450 400
Earnings before interest and tax 450 300
Interest 150 100
Profit Before Tax 300 200

You are reguired 1o

{i} ~Calculate the operating, financial and combined leverage for the
bwo companies, and '

(11} Comment on the relative risk position of them. 7’:;3
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Section-C ( @UE-H)

i .- . i Doubtful debts 1,350 1.425  Investment 16,000 12,000
5. From the following statement, calculate : 1_tuonlme.c0m Accumulared depreciation Stock  25.000 20.600
(i} Current ratio (if) chk_ ratio Building 12,000 9000 Debtors 15000 15,000
(iii) Debt-equity ratio (iv) Proprietory ratio, and Furniture 3200 2400 Billsreceivable 6,200 3,500
(V) SOIVEHCY l‘aUD. Loan on Mongage 4D.mc|- 40,000 Cash at Bank 21,300 231s00
1= Tt & S 91 o it - Bills payable 25000 35500
(1) IR 79, Gi) @ A . 1.61.500 1,51.600 161,500 1.51,600
(iii) FO-FHA ST, (iv) = ST, au Additional Information :
(v) T G ST (i)  The net profit for the year amounted to ¥ 6,675.
Balance Sheets of ABC Ltd. (i) A dividend amounting to ¥ 5,000 was paid during the year.
as on 31st March, 2015 A= I -
Particulars rtuonline.com Current Year Previous Year (@ E'E{ & 1?1‘5{"-?’;3 L m? 616?§ A
: 2014-15R%)  2013-14(%) (i) =9 % TR T 5,000 =1 =T faaie feam T
- rtuonline.com . i

Equity and Liabilities rtuonline.com
(1) Shareholders Fund : rtuonline.com

(a) Share capital 1,00,000 )

(b) Reserve and Surplus 50,000 ]
(2) Non-current Liabilities :

Long-term Borrowing (Debentures) 2,00,000
(3) Current Liabilities :

Trade Payables (Creditors ¥ 30,000

+ Bills payables ¥ 20,000) 50,000

Total 400,000
Assels :
(1} Non-current assets :

Fixed assets (Net) 2,770,000
(2) Current Assets :

{a) Inventories 30,000

(b) Trade Receivables 30,000

(¢} Cash and cash equivalents 20,000

Total 4,00,000

OR ( 2126T)
From the following comparative Balance Sheets, prepare Cash Flow Staterent -
Frefafaa germrs foafa faeroll 3 Tz vam faawn Fan e -

Comparative Balance Sheets T /L
as on 31st March, 2014 and 2015 '
Liabilities 2015 2014 Assets 2015 2014
z z 4 4
Share capital 50,000 45000 Land 8.000 7,000
Sinking fund 16,000 12,000 Buildings 60,000 60,000
l}eta.inﬁd Earnings 13950 6275 Fumimee Taann e aen
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